
a) My dydoddosin I roa
dr = 3cos(3

= 3cos3OsinO + (2tsin38) cose
3 cos30coso - (2+ sinse) sing

m=o
= cos() sin() + (2+ sin)cos()
3cos(31) cos(3) - (2 + sin) sin (3)

= 0 + (2 -1)()
0 - (2 - 1) (1)

x= rcoso

= O y= using 2

At 0=Th ,
v= 2+Sin (35/2) = z - 1 = 1 >

r2= x+y

x = 1 cos (π() = 0 , y = (sin(πh) = 0

y -yo = m(x- xd) = y
- 1 = 0(-d = y

= /

LHS : 23 sing = zursing = zr(rsine) v = zuy = 26 +yz)y
RHS : 3-cosO = 3-34r

Hence , 2(+y2)y = 3-r = zv(+ yz)y = 3r- x
=> 2 Girtyn) bly = 3(ch+y2)- x



-= rose y = using r=x + y2

v2 = 8rcos0 - Jrsin0 => xity2 = 8x-5y

= x2- 8x + y z+ 5y =0

Now complete the square :

· x- 8x= x - 8x + (E) - 1-8)

= x - 8x + 16 - 16

= (x-4) - 16

· y2 + 5y = y2 + 5y + 25/4 - 25/4

= (y + 5/2)2 - 25/4

Hence
,
(x - 4) +16 + (y + 5/2)2 - 25/4 =0

= (x = 4)2 + (y+ 5/27 = 84/4

: Center (4 , -5/2) Radius : 09/2

a) standard form of an ellipse wh

center : (0.0)
,
a=3 along e-axis ,

b-78 along yaxis
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b) 4xy2 = 16= =1 (b= 16 , == 4)

standard form of hyperbol that

· opens left and right (as >24 term is positive)
· center (0,0)
vertices at x= 12

asymptotes y
= 12x (y ==x == x)

Note : The same steps can be used for a hyperbola
that opens up/down

ie.

-

7.



a) ill =N = 245 Kill=+E = FO

Unit rector : n =- (155-25 + 4 T

= (i +35

b) Kill=+ 2 = 55 Ill= = E

Unit vector:= (25-
-

v = -(5 + i)


